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Bt K 4% NET __ HDCP__ TOTAL OUT _ IN__ OUTNET
B B EAXEKE 66 22 88 ( 45 43 ) 340
20 B E 66 20 86 ( 45 41 ) 350
3 AE 217 69 19 88 ( 42 46 ) 325
4z B 69 30 99 ( 48 51 ) 330
567 K TR 69 30 99 ( 50 49 ) 350
6 /NR Et 71 19 90 ( 45 45 ) 355
i = H#F 71 23 94 ( 49 45 ) 375
8z FHK —K 71 29 100 ( 53 47 ) 385
ot JIF &= 71 18 89 ( 48 41 ) 390
106z X% # /3 23 96 ( 46 50 ) 345
2067 /Nt IERR 74 14 88 ( 50 38 ) 430
30fz &R EF 83 19 102 (51 61 ) 415
BBE FER EAA 88 30 118 ( 59 59 ) 440
BGE JE& MA 83 ( 42 41 )
Par 72 a—ZL—k  ZB—=TL—h
BiE(EF) 6606 yard 713 128
BiE(E) 6237 yard 695 123
BiE(&) 5892 yard 681 119
BiE(%) 5281 yard 649 114
ZiE(%) 5281 yard 701 123
ZiE(FK) 4878 vyard  67.8 119




